

Chicoutimi, Quebec February 22, 2007 to February 25, 2007

## **Senior Synchro - Free Program**

### **NEXXICE - WO**

# Segment Rank - 1

<u>#</u>	Element	<b>Base Value</b>	GOE	Score
1	fe3+fm3	4.00	0.76	4.76
2	I3+pi4	5.50	1.00	6.50
3	C3+s4+tr+cd	5.50	0.40	5.90
4	B3+s4+piv	5.50	1.00	6.50
5	L3+s4+piv	5.50	0.60	6.10
6	I3+pi4-D1	5.20	0.00	5.20
7	W3+tr+cd	4.00	0.28	4.28
8	W3+tr	3.00	0.00	3.00
9	NHS4	5.50	1.00	6.50
10	fm3+fm3+fm3+DD1	3.70	0.76	4.46
11	B3+s4+piv	5.50	1.00	6.50
12	fm3+fe3	4.00	0.70	4.70
13				0.00 *
Tot	al Element Score			64.40

Program			
	<b>Score</b>	<b>Factor</b>	<b>Points</b>
Skating Skill	7.70	1.60	12.32
Transition/Linking	7.60	1.60	12.16
Performance/Execut	7.90	1.60	12.64
Choreography/Compo	7.95	1.60	12.72
Interpretation	7.85	1.60	12.56
Total Component			62.40

1.00
1.00

<b>Total Segment Score</b>	125.80
----------------------------	--------

x - credit for second half, base value multiplied by 1.1

\* - invalid element, scored as zero

< - downgraded jump

d - D1,D2,D3 & D4 represents deduction in base value for missing requirement







Chicoutimi, Quebec February 22, 2007 to February 25, 2007

Program

Skating Skill

Interpretation

Transition/Linking

Performance/Execut

Choreography/Compo

## **Senior Synchro - Free Program**

## Les Suprêmes - QC

## **Segment Rank - 2**

<u>#</u>	<b>Element</b>	<b>Base Value</b>	GOE	Score
1	L3+s4+piv	5.50	0.40	5.90
2	B3+s4+piv	5.50	1.00	6.50
3	C3+s4+tr+cd	5.50	0.00	5.50
4	NHS3	4.00	-0.28	3.72
5	W3+tr+cd	4.00	0.70	4.70
6	fm3+fm3+fm1	2.50	0.50	3.00
7	I3+pi4	5.50	0.40	5.90
8	fe3+fm3	4.00	0.88	4.88
9	W3+tr+cd	4.00	0.42	4.42
10	I3+pi4	5.50	1.00	6.50
11	B3+s4+piv	5.50	0.60	6.10
12	fe3+fm3	4.00	0.42	4.42
Tot	al Element Score			61.54

Total Component	62.08
Deductions	
Fall/Interuption	1.00
<b>Total Deductions</b>	1.00

Score

7.65

7.60

7.85

7.90

7.80

**Factor Points** 

12.24

12.16

12.56

12.64

12.48

1.60

1.60

1.60

1.60

1.60

x - credit for second half, base value multiplied by 1.1

- \* invalid element, scored as zero
- < downgraded jump
- d D1,D2,D3 & D4 represents deduction in base value for missing requirement

<b>Total Segment Score</b>	122.62
----------------------------	--------







Chicoutimi, Quebec February 22, 2007 to February 25, 2007

# **Senior Synchro - Free Program**

### black ice - CO

# Segment Rank - 3

<u>#</u>	Element	<b>Base Value</b>	GOE	Score
1	fm3+fm3+fm3	4.00	0.42	4.42
2	B3+s4+piv	5.50	0.20	5.70
3	W3+tr+cd	4.00	0.56	4.56
4	I3+pi4	5.50	0.20	5.70
5	C3+s4+tr+cd	5.50	0.20	5.70
6	fm3+fe3	4.00	0.70	4.70
7	B3+s4+piv	5.50	0.00	5.50
8	L3+s4+piv	5.50	0.00	5.50
9	W3+tr+cd	4.00	0.00	4.00
10	NHS4	5.50	0.60	6.10
11	I3+pi4	5.50	0.00	5.50
12	fm3+fe3	4.00	0.42	4.42
Tot	al Element Score			61.80

Program			
	<b>Score</b>	<b>Factor</b>	<b>Points</b>
Skating Skill	7.45	1.60	11.92
Transition/Linking	7.45	1.60	11.92
Performance/Execut	7.70	1.60	12.32
Choreography/Compo	7.55	1.60	12.08
Interpretation	7.75	1.60	12.40
Total Component			60.64

Deductions		
<b>Total Deductions</b>		

<b>Total Segment Score</b>	122.44
----------------------------	--------

 $\boldsymbol{x}$  - credit for second half, base value multiplied by  $1.1\,$ 

- \* invalid element, scored as zero
- < downgraded jump
- d D1,D2,D3 & D4 represents deduction in base value for missing requirement







Chicoutimi, Quebec February 22, 2007 to February 25, 2007

Program

Skating Skill

Transition/Linking

Performance/Execut

Choreography/Compo

## **Senior Synchro - Free Program**

### **Fusion - CO**

# Segment Rank - 4

<u>#</u>	Element	<b>BaseValue</b>	GOE	Score
1	L3+s3+piv	4.00	0.00	4.00
2	fe3+fm3	4.00	0.42	4.42
3	C3+s4+tr+cd	5.50	0.60	6.10
4	C3+s1+tr+cd	2.50	-0.10	2.40
5	I3+pi4	5.50	0.00	5.50
6	W3+tr+cd	4.00	-0.14	3.86
7	I3+pi2-D1	2.70	-0.10	2.60
8	fm3+fm3+fm1	2.50	0.00	2.50
9	NHS3	4.00	0.14	4.14
10	B3+s4+piv	5.50	0.20	5.70
11	W3+tr+cd	4.00	0.42	4.42
12	fm3+fe2	3.00	0.00	3.00
Tot	al Element Score			48.64

Interpretation	6.60	1.60	10.56
<b>Total Component</b>			52.56
Deductions			
<b>Total Deductions</b>			

Score

6.50

6.40

6.65

6.70

**Factor Points** 

1.60

1.60

1.60

1.60

10.40

10.24

10.64

10.72

 $\boldsymbol{x}$  - credit for second half, base value multiplied by  $1.1\,$ 

- \* invalid element, scored as zero
- < downgraded jump
- d D1,D2,D3 & D4 represents deduction in base value for missing requirement

<b>Total Segment Score</b>	101.20







Chicoutimi, Quebec February 22, 2007 to February 25, 2007

# **Senior Synchro - Free Program**

### **Gold Ice - CO**

# **Segment Rank - 5**

<u>#</u>	Element	<u>Base Value</u>	GOE	Score
1	fe3+fm3	4.00	0.14	4.14
2	L3+s3+piv	4.00	-0.42	3.58
3	I3+pi4	5.50	-0.60	4.90
4	W3+tr+cd	4.00	0.00	4.00
5	NHS3	4.00	0.70	4.70
6	Sp2	3.00	-0.50	2.50
7	fm3+fm3+fm3	4.00	0.00	4.00
8	C3+s3+tr+cd	4.00	0.00	4.00
9	B3+s1+piv	2.50	-1.20	1.30
10	W3+cd	3.00	-0.20	2.80
11	I3+pi4	5.50	-0.20	5.30
12	fm3+fe3	4.00	-0.42	3.58
Tot	al Element Score			44.80

x -	credit f	for se	cond	half,	base '	value	multi	plied	by	1.1	

- \* invalid element, scored as zero
- < downgraded jump
- d D1,D2,D3 & D4 represents deduction in base value for missing requirement

Program			
	<b>Score</b>	<b>Factor</b>	<b>Points</b>
Skating Skill	6.20	1.60	9.92
Transition/Linking	6.15	1.60	9.84
Performance/Execut	6.20	1.60	9.92
Choreography/Compo	6.40	1.60	10.24
Interpretation	6.30	1.60	10.08
Total Component			50.00

Deductions	
Excess Interruption	1.00
Fall/Interuption	4.00
<b>Total Deductions</b>	5.00

<b>Total Segment Score</b>	89.80
8	



